EANRAROBREERT — 2 N—XBISH —F 2020528278 (k) 25EEM5AH

| or FEIYEEEEL

‘ [Rfg] 2 ‘ [EERRE] — | 4 (&) 1230 =

[A&4£] 1% :1,200,000 23 :33,000 ™ ~ 33%&:168,000  ~ 4 3#&:120,000 @ . 5 7#& :96,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
e N HF :19. —4-4- . - Rz ()
1 3 <O> Ro4—> 4 3 54_0'7' 1(1_9)8 6-4-4-1 37.8 6 (4_162) it
L:hE—X2=—F— BR-TL RNy Y BA =i
7\ S H 3 | ALUERE 1:20.1 3-3-3-4 [38.1| — 5 431 | Afif2 (EHE)
oo NI T h— " 55.0 (1 3/4) (1g) | B
R:VENTF+— B:FH A HXEHH 2 VHE
EtE . 76 —
3lglg|FITILTIL it 3 5%*3 * 1.(210>.3 7-7-5-5 | 38.1 2 (4?2) gggg (Em)
RYZRE—IZXE— BILATAT ) mm o7 o
¢ = JNRIE— . -0-8- = RAREX (EH)
alglo|/trOtE—5 3 s 1(72(1)::)3 9-9-8-8 | 37.6 7 ;1_253; BAEX
L4 m B:ILARFNRT fisibier ]
. B3 | KEiEK 1:20.5 1-1-1-2 | 38.9| -— 1 464 | BTREELE (EB)
] 4| T 54.0 A 1/2) (g) | SR
RHIRGATTZ BNALAT I —> HEANTT— LI
. TERE :20. ~6-6- . = HHFHE (ER)
6|55 F>PlyInNyy #3550 e A ’ ffg EBEA
R:VZRE—IZXE— B:xU—N—F k2 e]
EXES 4 3 | TIihED 1:21.0 2-2-2-3 | 39.3| — 4 410 | RAF0E (FER)
71717 77y KoOxX 54.0 (1 1/4) +1) FETR
R:27)—re—A— B:aAX/7 ¥ INT U
> 4 3 | BAKH 1:21.2 4-5-7-6 | 38.9| — 8 305 | MEM—E (EE)
gl1]1(37V3 7 54.0 (3/4) (-5) |PE%E
A= X121 B:HTSAXF714> 22 LTN
KRB 21, -8-9- 6| — R (Fh)
9 NEPEFE PR i 3 N (11211/24) 8-8-9-9 | 38.6 9 (4_013) i
RN—HNE B:FTLaT EEEEPAN
@ I—F—@EBIERL
|3=7r= 4,7,2,1,5,3,8,6,9
2ol=5"= 4,7,2,3,1,5,8,6,9
3T—7— 4,7,2,3,8,5,1,9,6
41—F— 3,4,7,2,8,1,5,9,6
0@ IR
B R 3 1,850M | | 71 K 2-3 1,240M | | # = 2-3 4,540 | | 3:E& 2-3-8 5,170M
# B 3 410M 3-8 800F B E 2=3) 5,360 EE 3-2-8 56,830
2 260/ 2-8 530M B H 3-2 12,370M
8 1909

ARICOVWTRDTEEERROODE. TR LI,




